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($axdill Jaallg a3l Jodll - Transitive and Intransitive Verbs

A verb can categorized either as 133 (transitive) or oY
(intransitive). A transitive verb is a verb that takes a « Js24ll
(direct object) and makes a noun wsis, meaning it will take a

- -

4alg,

For example:

A I [N [ The student studied the book.
Frae 0y Gl Zaid struck ‘Amr.

Lo &L | asked a teacher.

Each of the above verbs is 133 and takes a direct object at the
end of the sentence.

A ay¥ verb, on the other hand, is a verb that does not take a
direct object.

For example:

KIE Zaid slept.
abls &l Fatimah sat.
Jlall S The men went.

When reading unvocalized texts, we have to know whether a
verb is a3¥ or uxie. Because a3¥ verbs do not take a © Js2ds we

would not call a noun following that verb a < Js»4-. If we do see a
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noun that is ws.ais after a a3¥ verb, that noun is some other
grammatical role (J~ or <,k, for example).

How do we know whether a verb is transitive or intransitive? This
often correlates to English usage but to confirm, we must look at
a dictionary such as Hans Wehr for the answer. After identifying
the root letters of a verb, you will find the first block of text is for
the meanings of the verb in its different forms. After Hans Wehr
gives the definition of a verb, he may add to it one of the
following three pronouns in parenthesis: -a La s. These pronouns

indicate that the verb takes a < Js2dés. Please see the following

examples (note: s.th. means “something” and s.0. means
“someone”):

Example 1:

K akala « (akl, 'L ma’kal) to eat (» s.th.);
to eat up, consume, swallow, devour,

Example 2:

12 Sariba o ($urb, o % masrab) to drink
(asth); to sip (asth) | as 3o

Example 3:

1o fataha @ (fath) to open (» a.th.); to turn
on (a a faucet); to switch on, turn on (a

Example 4:

951

S kataba u (katb, <=5 kitba, 3,\S" kitaba)
to write, pen, write down, put down in
writing, note down, inscribe, enter,
record, book, register (» s.th.); to
compose, draw up, indite, draft (» s.th.);
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Example 5:

a4 fadaha a (fadh) to disclose or uncov-
er 8.0.'s (o) faults or offenses, expose,
show up, compromise, shame, disgrace,
dishonor (. s.0.); to outshine, eclipse

Sometimes a verb can be both transitive or intransitive for the
same form. The meaning of the verb changes when it is
transitive.

Let’s look at the following three examples:

Example 1:

(w3) sl; zada i (s34 ziydda) to become
greater, become more, grow, increase,
be compounded, multiply; to be greater,
be more, amount to more {3 or < than),
exceed (< or e s.th., an amount, . by),
go beyond an amount or mumber ( [s);
to augment, increass, compound (» s.th.),

When this verb becomes transitive the meaning is “to increase
something”.

Example 2:

¢~ jahade a (jahd) to endeavor, strive,
labor, take pains, put o.s. out; to over
work, overtax, fatigue, exhaust (. s.0)

When this verb becomes transitive, the meaning is “to exhaust
someone”.

Example 3:

- haruma u, harima a to be forbidden,
prohibited, interdicted, unlawful, un.
permitted ( fe to s.0.); — harama © (hirm,
Sl Rhirman) to deprive, bereave, dis-
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When this verb becomes transitive, the meaning is “to deprive
someone [the direct object] of something”.

The following are examples of sentences which contain both
transitive and intransitive verbs:

Example 1 (Verses from surat al-nasr):

22 o .

wlu.s.s@_qwlamwul AT /%\%@MBMIJ@;B l.sl
47y GIS K &) égsu#b%m”’ $Y¥ (A58

! il 2la This verb is intransitive (when the help of Allah
comes)

el 3105 This verb is transitive (and you see people)

Z;giiiulg This verb is transitive (seek forgiveness from Him).

We don’t require a particle in Arabic for this verb as we do in
English.

Example 2 (Hadith):
ww|wjmd&wlw@£wwlmu\ﬂu&
@Mu.u.nau.sda LSJA‘)AJIJ'ﬁj cw_yl.u.\.’b ¢L§JAJAJ|5[5J <<LJ4

“Leave that which makes you doubt for that which does not
make you doubt.”
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¢ 3 is a transitive verb which means “leave or abandon”. It is
taking a direct object in the Js.asll aul (relative pronoun) L. The
verb :.,u‘).s &l; is also transitive and taking a direct object in the

pronoun which is attached to it. When a pronoun is attached to a
verb, it usually will be the direct objects for that verb.
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